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rer the following questions.

Fmasfrodupad alter digestion is temporarily stored in the
A, arge intestine.

anus
D. small intestine 1
For current to flow in an electric circuit

L a' battery must be present

il. a bulb must be connected o the cirews

M. the circuit should be open
IV.  there must be connecting wires |
I, 11, and HT only
I, and IV only
L1 I and IV t
1 only.
lmlﬂ.;fﬂlﬁﬁr:rmh BETOSES O Wire O resisti 1 LM iperes ol current passes ‘mugh I
125V, '
12.00V.
0.75V. B S
The diagram below is an illustration of o <in | : -
A.  electrical circuit I
% oscillator circuit.
1 : magneuc compass,
. S drw?uﬁdd' - 1
4 ' ch ol the tollowing is not true of the interdependence between plants o i
A. P l"’:"“" produce oxygen which is used by animals for ¢ aplmlllju;u't ot
B. Animals give out carbon dioxide which plants use for photosynthesis
[ Plants depend on animal droppings for food. . g
_ D. Animals dcppnd on plants for food.
6. Which of the following is an unhygicnic practice?
A Drinking from the same tap water with your brother.
B. Using a brother’s towel.
i Drinking water directly from a sachet.
‘D.  Camrying waakye in green leaves.
fhich of the following is an artificial source of light?
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D. indigestion

_.~',*-. ‘atom X is represented as fgx How
-many neutrons are in the atom X7
Al 33
B s
C, 48

D. 18
I Theuse of an emitter in a transistor i< 10
AL supply negative charpes

- B pull the electrons from emittes
C. allow current (o {1ow | the bo
I’. Supph-' pnm'.nt Chjiroes

A metal expands whe
A. an increase 1n hic

B. 81 INCrease in nu

_(:- a decrease in |

D. 8 decrease nom
Shadow [ormation shows th

A. can be diffracied

B. travel in straight |
.l can be refructed

D. can be reflected
Constipation can be prevents

A. eating lots of carbohydrat.
B. eating regularly
C. fasting.

D. drinking lots of sugary juices

One of the structures which 1s part of the
digestive system of humans is the
‘A.  trachea.
B. lungs.
53 rectum.
- D.  Uterus. J
- Which of the following describes a first

"" The load is between the effort and
%g ivot is between the effort
wm the pivol
§ arm is equal to the effort

16.

17.

I8.

19.

2

e
b

24.

How many different eler
in the compound Cg
X 8((

B. 2
il 3.
D 4 ,

Gaps are left in the joints of railway lin
A.  tocheck over speeding.
B. for protection a m‘%: i

C. 1o create room for bolts and .
D.  to mike room for the cxpansion
of metals. R -

A commeon feature of a plant cell is that jt
A. contins a few large vacuoles,
B. s walled by a cell membrane only,
B does not have JJcﬁnilcShﬂpﬁ. '

. does nol have a nucleus.

Which of the following is acidic?

A S0apy water

B. salt solution

{ Citrus juice

i, Juear soluton

' lumimous object can be scen when

heht fallinge on it is

A .||".1r|"‘r._'.:

. '-.Ihi'ﬂ." ol

L. refracted

13, ¢flected

Hydrochloric seid is naturally produced
i the

A, laborators

B. hospital

e stormaoch

. grape fruits,
One effect of hazards is

\. mualnutrition.

B. injury

. HIV/ALDS

L. lCEnage preguungy

Which of the following produces rust?
A. lron + waler + oxygen,

B. Iron + water + carbon dioxide.
C. Iron + air + carbon dioxide.

D. ltan + waler + nitrogen,

I'he two upper chambers of the heart are
A.  right atrium and leR atrium,
B. right ventricle and lefl ventricle,

C.  right atrium and right ventrie
D.  lefi ventricle and right atriue



'28. A physical change occurs when there is
A, combustion of petrol in car
engines.
B. sublimation of jodine crystals
C. boiling of ege.
D. frving of egg.
29.  One ol these cunnot be considered o o

lever.
4 Al Serew.
F : C.  wheel barrow,
- 1 D.  scissors.

, 30.  The chemical formula of methane is
A. NH;
B. NI
C. CH
D. CHa

31, The embryo of u seed consists of the

A. plumule and cotyledons.

B. plumule and radicle.

C.  radicle and cotyledons

D.  plumule, radicle and cotyledons,

In gardening, the rake is mainly used for
A.  harvesting.

35.

6.

40.

END OF PAPER

D. ’ e
An example of a hazardous substance js

Al carbon (11) oxide.

B. carbon (1V) oxide.

i milk of magnesia.

D. sodium chloride.
Dispersiun of light occurs by

A. magnification.

B. diffruction.

L refraction

D. refleciion

e function of the lungs is to

A, keer water in the body

B. i vuen from the body.

o ahsorh curbon dioxide from the
|
1] [ Wiy iemperafure constant.
o industrinlization is
i potluhion *
skl ful Juboug
f achineny
L of production of
whivities involves
¢ trom light to electrical?
\ .
s | I use
i laT panel 1n use
. Hammering & picce of metal
e ¢ thck

. ol @ machine ts 75% means
A _ Tenergy input is utilized.
Ill. .I" vl enerey input 1s wasted.
C. .;“' o O encrgy output is utilized. -
Il.. = 1] “nergy output is wasted.
The work done in lifting a load of 150N

from the floor 1o a shelf | igh i
A. 325) e hlﬂh :

B. 751
& 750
. 7500
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[100 marks]

.

er '_ kﬁr(ﬁ#ﬂfm A and B. Answer Question | *J "

er all the questions in your answer booklet.
will be given for clarity of expression and orderly presentation of material

SECTION A p -
[40 marks]

Answer all of Question 1

The set-up below was used to demonstrate some changes in states of mmu- .
: il

Study the set-up carefully and answer the questions that foll

(1) Lxplain the three changes of state that ocour in the set-up abave, [3 marks]

(11) What wil u see on M and why? [llnlﬂ's}

(111) SUHIC Lnrs el affect the process at hlij!_.'i.‘ﬂ. l}mi!}.
(1v) Mo of the progess Hn..-...lllillE at stage B, len-hi
(b) In the diaera Lbelow. two holes were made in each of the two eylindrical
tins after whi \ filled with water
Study the diagrams carefully and answer the questions that follow.
‘ B
A

Milo
['ir

Name the phenomenon being investigated by the set .
What observation is made in set up A and Set up By FSpeEltl
What conclusion can be drawn from the observations s

State two factors which affect the phenomenon Imns et s
* Give one useful application of the phenomenon being Inves



Shp L experiment to demonstrate one of the produg
¢ the experimental set-up carefully and answer the quest

()  Whatis observed when the set-up is left in sunlight for a while?
ﬁl) Explain yvour observation in {¢) (i) above. 2
(1) Name the gas produced in the inverted lest tube.

(_w} Mention the four fuctors needed for photosynthesis,

(v)  Give four benefity of photosynthesis in life.

(d) The diagrams below ure illustratis

s of some weather mstruments.
Sthh' the diaerams, i

wrefully and answor the questions that follow

NI o
||
E }

< =D
| N - 2= [
(i) [dennity cach of the instruments shown above as 1 and 1L [2 marks)
(i) Give the element ol weather meusured by each of §and 1L [2 marks)
1) state three wave oo wihneh the element measured by using Lis
important in agriculture |3 marks)
(iv)  List three benelits thut the nation derives from agriculture. |3 marks]

SECTION B
{60 marks)|

Arswer four JEENTions uui} frivm. tiiis section

e T

3 (a i Whil is circulation of blood? {2 nseks
& @) (i%) Describe the role of the heart in blood circulation [2 marks
giii} Mention four uses of blood o the body [2 marks]

() A simple machine moves a load of 20N through a distunee of 2m. If it
] uses an effort of 25N which moves through a distance of 4m, calculate its

?% work nput; _
(ii)  work output; '
i) efficiency. (3 marks] A

Write down the chemical formula of each of the following compounds:
i IG ljm 12 hy ﬂmjﬁ iﬂn'

0 organisms which cause crop discases.
1 ds of transmission of crop diseases.



s
Stat e two mm nfﬁnmlung mosquitoes at the
dmm i formed from atoms.
mmﬁ%tﬂﬂ for the following ions:

G e
‘ - cium ion,
4 ' heninos Mosk
(d)  Explain the role of the following features inat
) P.rmccnf:nrlr:;
' Absence of medium;

Presence of vacuum |
Shiny silvered surfaces of the double wa |

)
(a) i Identify four benefits of scicnce and 1echng|
2 El%l Mention four dangers posed | ' 5
by (i) ldennfy four lving orgamisms fin 0t
' (1) State four benefits of soil || ing orgu marks]

(€) (1 Stile two roles played by greey [2m
(i) Identifs two factors affecting iy bitat

(d) Name the three parts of o transisioe

{ o human life
| |l.-_:'.! ey L h-l-'.'

e (D) Live four uses of the hum
(k1) State two Wiays of prey enting

(B Explain the importance of each of 1
) luse;
i carthing:
(i)  switch

(c) Write o word equation for cach of 1
{F} Ca(OH): + 2HCT >

Ll
(H)  Reaction between Magnesium met i acd
(1) Give two s¥mptoms of (he - - W plant
State twy Ways to conitro] (he - woll ny '.l. l[:I-;anl |2

Gi‘w two uses of protein 1o the human by

Elfpia:n how the ollowing ar forme
: % gﬁﬂtfﬂﬂ'; & are fonmed

e Belipse of the cun:

) Eclipye of the mogr,

€ Give
(c) :‘ﬂ-"’fﬂl FEasons why (e burning of wood

Olm“?”'ﬁﬁﬂn; sich Wiy 15 @ chemioy] Change.
my soils gy ; .
sandy sojl camfgf ;;l';gmwth of most crops,

Crop growth.



